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Exam I Key

1.

	a. NNP
	5388

	b. Nat Y
	4837

	c. Pers. 
	5145

	d.Disp 
	4500


2.

	a.
	15200000

	b.
	10000000

	c.
	152

	d. 
	52percent


3.

Draw SRAS, LRAS, and AD intersecting at Y-bar and P-bar.

Then shift SRAS up, causing output to fall in SR to Y1, and price level to go up to P1.  Since y1 is less than Y-bar in the LR, SRAS will shift down to its original level, output will go back to Y-bar and price will go back to P-bar.

4.

a. r = 7 -0.0025Y

b. -0.0025

c. I = 800, Y = 2400

d. IS shifts upward and to the right

5.

a. r = .005Y – 8

b. 0.005

c. Y = 1800
d. LM shifts downward and to the right

e. LM shifts downward and to the right

f. LM shifts upward and to the left

6.

a. r = 50 – 0.01Y

b. r = 0.01Y – 30

c. Y = 4000 r = 10 Y – T = 3000 C = 2400 I = 600 Private S = 600 Public S = 0 National S = 600

2400 + 600 + 1000 = 4000

National S = I = 600

d. Y will increase by 500 in the SR.  Government purchases multiplier = 500/200 = 2.5

e. Y will increase by 250 in the SR.  Money supply multiplier = 250/200 = 1.25

MULTIPLE-CHOICE

1. C

2. C

3. B

4. D

5. C

6. D

7. A

8. C

9. D

10. B

